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Ol 2 0.06 0I5t - mg/L gatol2 200 0I5t - mg/L
HLEZER 0.04 0I5t - mg/L 2205 0.2 0/t - mg/L
oot 0.07 0I&t - mg/L SelTFHL 4.0 0I5t 0.25 mg/L
1,1, -E2i2220& 0.1 0I5t - mg/L SEQIS20E 0.1 0lat - mg/L
HE22=20 2 0.01 0I&t - mg/L 2z2u=s 0.08 0I5t - mg/L
Epl2z20g 0.03 0I5t - mg/L S2202220& 0.03 0I5t - mg/L
Uzzzne 0.02 oI5t - mg/L ceze2220e 0.1 0lat - mg/L
Bl &l 0.01 0I&t - mg/L Z2zgsl0l=y0lE 0.03 0t - mg/L
E201 0.7 0l&t - mg/L CIE220MELIES 0.1 0lat - mg/L
ol 0.3 0t - mg/L C2220tMEUEY 0.09 0t - mg/L
Ial 0.5 05t - mg/L EQZ2ZR0NELIEY 0.004 0I5t - mg/L
1,1-CI22202 0.03 Ol5t - mg/L S20MENAIS 0.1 0l&t - mg/L
AbSiBHEFA 0.002 0I5t - mg/L TEAMEIE 0.5 0l&t - mg/L
CR=pg=: 0.01 Ol5t - mg/L -
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BNl 100 Olat 0 CFU/mL 1,2-0EZE-3-E22Z2 0.003 Olat - mg/L
SHEZZ 4= E2& | /100 nmL | 1,4-CIOIS4t 0.05 Olat - mg/L
cRLdUHEDZ =d= S2& | /100 mL 2% 300 OlGt - mg/L
=1 0.01 Olat - mg/L WY EAHIE 10 0I5t - mg/L
= 1.5 0I3t - mg/L EH AR A2 -
=] 0.01 Olat - mg/L o s -
s 0.01 Olat - mg/L = 1 0I5t EdE mg/L
=2 0.001 OIat - mg/L M 5 0l at - <
Al Ok 0.01 Olat - mg/L AR 0.5 Olot - mg/L
== 0.05 Olat - mg/L =a0l2st 5.8 ~8.5 -
2L2LI0tE & A 0.5 Olat EZE mg/L Oted 3 0lat EdE mg/L
SRS ESEN 10 Olat - mg/L ga0l2 250 Olat 14.2 mg/L
HES 0.005 Olat - mg/L SUAF= 500 Oldt - mg/L
= 1 0|5t - mg/L = 0.3 Olat EdE mg/L
H= 0.005 Olat - mg/L 22t 0.05 Olat EHE mg/L
CtOIOt Xl = 0.02 Olat - mg/L &= 0.5 0lct - NTU
Ifetel 2 0.06 Olat - mg/L ol e 200 Olot - mg/L
HLEZEI& 0.04 Olat - mg/L 2=20l=s 0.2 Oldt - mg/L
Pl 0.07 Olat - mg/L FeldFEL 4.0 Oldt 0.30 mg/L
1,1, 1-ECI2Z220 & 0.1 Olat - mg/L SECIZZMNE 0.1 Olat - mg/L
HECZ=zZHEE 0.01 Olat - mg/L 222LE 0.08 Olat - mg/L
EcZz 20 €@ 0.03 Olat - mg/L EZRSZ20E 0.03 Olat - mg/L
CIZ222HE 0.02 0l3dt - mg/L CEZR2S=Z0E 0.1 Olat - mg/L
lps]| 0.01 Olat - mg/L 2250l dI0IE 0.03 Olat - mg/L
=l 0.7 Olat - mg/L CIEZR20tMEUEEZ 0.1 Olat - mg/L
Ol s 0.3 Olat - mg/L CI2220tNELEE 0.09 Olat - mg/L
Al 0.5 Olat - mg/L ECIZ2ZRO0IMELIEE 0.004 OIat - mg/L
1L1-CE2z=20d 0.03 Olat - mg/L SZOLMEUAIE 0.1 Olat - mg/L
AN SHEFA 0.002 Olat - mg/L IELHoIE 0.5 Oldt - mg/L
e84 0.01 Olat - mg/L -
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BNl 100 Olat 0 CFU/mL 1,2-0EZE-3-E22Z2 0.003 Olat - mg/L
SHEZZ 4= E2& | /100 nmL | 1,4-CIOIS4t 0.05 Olat - mg/L
cRLdUHEDZ =d= S2& | /100 mL 2% 300 OlGt - mg/L
=1 0.01 Olat - mg/L WY EAHIE 10 0I5t - mg/L
= 1.5 0I3t - mg/L EH AR A2 -
=] 0.01 Olat - mg/L o s -
s 0.01 Olat - mg/L = 1 0I5t EdE mg/L
=2 0.001 OIat - mg/L M 5 0l at - <
Al Ok 0.01 Olat - mg/L AR 0.5 Olot - mg/L
== 0.05 Olat - mg/L =a0l2st 5.8 ~8.5 -
2L2LI0tE & A 0.5 Olat EZE mg/L Oted 3 0lat EdE mg/L
SRS ESEN 10 Olat - mg/L ga0l2 250 Olat 12.4 mg/L
HES 0.005 Olat - mg/L SUAF= 500 Oldt - mg/L
= 1 0|5t - mg/L = 0.3 Olat EdE mg/L
H= 0.005 Olat - mg/L 22t 0.05 Olat EHE mg/L
CtOIOt Xl = 0.02 Olat - mg/L &= 0.5 0lct - NTU
Ifetel 2 0.06 Olat - mg/L ol e 200 Olot - mg/L
HLEZEI& 0.04 Olat - mg/L 2=20l=s 0.2 Oldt - mg/L
Pl 0.07 Olat - mg/L FeldFEL 4.0 Oldt 0.27 mg/L
1,1, 1-ECI2Z220 & 0.1 Olat - mg/L SECIZZMNE 0.1 Olat - mg/L
HECZ=zZHEE 0.01 Olat - mg/L 222LE 0.08 Olat - mg/L
EcZz 20 €@ 0.03 Olat - mg/L EZRSZ20E 0.03 Olat - mg/L
CIZ222HE 0.02 0l3dt - mg/L CEZR2S=Z0E 0.1 Olat - mg/L
lps]| 0.01 Olat - mg/L 2250l dI0IE 0.03 Olat - mg/L
=l 0.7 Olat - mg/L CIEZR20tMEUEEZ 0.1 Olat - mg/L
Ol s 0.3 Olat - mg/L CI2220tNELEE 0.09 Olat - mg/L
Al 0.5 Olat - mg/L ECIZ2ZRO0IMELIEE 0.004 OIat - mg/L
1L1-CE2z=20d 0.03 Olat - mg/L SZOLMEUAIE 0.1 Olat - mg/L
AN SHEFA 0.002 Olat - mg/L IELHoIE 0.5 Oldt - mg/L
e84 0.01 Olat - mg/L -
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